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20 {10 prs) Consider the experimental observations given in the following tabl
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(1 ptsy A matrix A such that A7 4= [ issaid tobe an e wich egomel  matrix.
S

4.3 (2 ptef_True jor False: The equation del(—--;’xf ) = dc:'f(/f} for all 6x6 matrices.
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L s dTae r False: Phe determinant of any diagonal nxn matrix is the product of it

dingenal enlrics.
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2010 pts) Suppose Vs the subspace spanned by ¥, =1 2

fotiowing:
a4.) Bhow Yy 1s notin i

ey £ o/

mansformation

9.3 (5 pisy Consider a2 foenre
voand vyoin KT we bave TV e

Fostify vour answer carcful i}m‘

P
X
-1
5
5
N

0, “F o

5\5
R

b
5 g

ey f e L — —
T{x)= Ax from B 10 R

>

i)

Page 5 ot' 6

1§

and v, =

, do the

‘__...
L
|

"6 .97

R
3 Ry

. Buppose for two veelors

A, and £, ) =57, What can you say about det{4}7

ST T TR Ay

&-g;- C\A)ﬁ: J@.‘t C»S’ @sﬁ 3}
o dexls) detB) dee(57)

=~ der (B)

157,



P CHD pis) Use the determinant to (ind out for which values of the constant 2 the matrix
P A7 fails o be invertible. Note: You may find it helpful to factor by grouping.

"ﬁl ______ i) (}i iJ y ¢ A}Wv&f ﬁ:;éf
2 T e
- Aﬁ;
T e 5 e
[3”%“ 3 ~ € L 4T
d ec Q&W%E}:‘ - - A g io
J _y ~1= A

= (- (AN =AY 4 2oy 4 (-2
~ 4 = (1eYQ =AY = (—1-2) (1)

< _,»ﬁ\(\m_g -3 N %%ﬁw‘-}»‘}m‘fﬁ Flo ~ s
=2A+AT-A 2 Lqn

A4 4 U

= (=7 %E%ZLQ\ -2 )
= AT (A=) J(a-2)
N TR AN P
o (A= 0= A en)

A\ = Zi t | s hees
clec (A-ALT) =06

Page 6 of 6



